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1. Read each question carefully before you begin answering it.

2. Check your answers seem right.
3. Always show your workings
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1. Write down the gradient of a line paralleltoy = 7x + 4

2. Circle the equation of the line parallelto y = 3x — 5

y=2x-5 y=—-3x+4

()

3 Write down the equation of a line parallel to y =2x - 3
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4. Write down the equation of the line that is parallel to y = 6x + 1 and passes
through (0, 8).
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9. Write down the equation of the line that is parallel to y = x + 1 and passes
through (0, -3).

71"3 .......
(2)
6. Write down the equation of the line that is parallel to y = —4x — 5 and passes
through (0, 10).
p-bx 1o,
(2)
¥ Circle the equation of the line parallelto y=-x+ 2
y=x+3 y=-2x-1
o)
, : . 1
8. Circle the equation of the line parallelto y = Zx
1
@ y==—4x+1 y=4x+3 y=—Zx
1M
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(0, 8) // B
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(o) X

The lines A and B are parallel.

The line A passes through the point (0, 8)
The line B has equation y = 3x + 1

Write down the equation of line A

RAET—— (2)
10.  The line Ais shown below.
v4 Line A
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(a) Work out the gradient of Line A.
(2)
(b) Write down the equation of a line parallel to Line A.
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11.  Astraight line L passes through the points (0, 6) and (4, -2).
A straight line M passes through the point (0, 1) and is parallel to line L.

Find the equation of the line M
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12.  Write down the equation of the line that is parallel to x + 2y = 4 and passes
through the point (0, 5)
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13.  The equations of five lines are given below.

Line A y=2x+3
Line B y=—x-3

Line C y=6—x
Line D y=2x=17

Line E y42x=3

1
(a) Which line goes through the point (1, 9(;]?

3-17‘27 L e )

q-‘Lx)*—? B (1)

(b) Which two lines cross the y-axis at the same point?

.............................. £ 1 0 | P s RO W=
(2)
(c) Which two lines are parallel?
7: 2+ +3
7 s 1 +H#
............... /4 and ﬂ
(2)
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14.  Astraight line, A, passes through the points (2, 0) and (5, 6).

Line A

o

(a) Work out the gradient of Line A.

/
: 3
2
Line B is parallel to Line A and passes through the point (1, 4).
(b) Work out the equation of Line B.
. yzi%
(2
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15.

The line A is drawn on the grid.
Another line B is parallel to line A and passes through the point (2, 0)

Find the equation for line B.
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16.  On the grid below, the lines A and B are drawn.

rvn

Shown above is the graph of line L 1 (7

The line M is parallel to line L and passes through the point (1, 6)

Find the equation of line M.
{=-4 +¢

¢ 140
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17.  The line L is drawn on the grid.

(a) Find the equation of L.

v 2
The point P has coordinates (-2, ‘g).

(b) Find an equation of the line that is parallel to L and passes through P.

Yoo

4= § + ¢
EFES N ST o e
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18. Line A and Line B are parallel.

Line Ahas equationy=5x+9
Line B passes through the point (7, 41)

Find the equation of Line B.

j s ey ke
P
ke,
3)
19.  The straight line L has equation y = 3x + 2 s
The straight line M is parallel to line L and passes through the point (5, -1).
Find the equation of line M
e pe
-] = 5+ <
= =f{
5 TE =8
(3)
20. Write down the equation of the line that is parallel to y = 8x — 4 and passes
through the point (-3, -1)
b4
J
Y g¢ + ¢
oif & -24% + ¢
E£s 13
..... y..z...‘(zé.f..%.}
3)
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21. Show that the lines with equations y =4x —1 and 3y — 12x+1 =0

are parallel.
27-41-1 37-!114'"0
™ 3 1zx = |
7*41-%
M=l

(2)
22 M Wfité down Yth‘ev eq‘uatié)rn of} théblihe that |s p.ar‘allel to 8x — 2y. = 3 .
and passes through (g, _5/1) ¥ 1] 47:7
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23. Line Aand Line B are parallel.

The line A passes through the points (-3, 4) and (3, 7).
The line B passes through the points (1, 0) and (10, p).

Find the value of p.
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24.  Astraight line, L, passes through the point (—% o) and is parallel to x + 2y =4

Find the coordinates of the point where L crosses the x-axis.

Z%/‘-Q
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